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Die Stellenwerttabelle 
 

Fülle die Tabelle richtig aus: HT ZT T H Z E 

568411 
      

510000 + 31000 + 7100 + 210 + 41 
      

siebenhundertfünfundzwanzig 
      

7T 5H 9Z 2E  
      

310000 + 6100 + 81 
      

zweiunddreißigtausendvierhundertfünf 
      

9ZT + 5H + 7E 
      

Summenschreibweise: 
 3 0 0 5 1 

Stellenschreibweise: 

8 3 4 8 0 9 

8T 9H 9E 
      

3100000 + 61000 + 91 
      

dreihunderfünftausend 
      

Stellenschreibweise: 
1 1 0 0 1 1 

Summenschreibweise: 
9  7 3 0 1 

910000 + 5100 + 910 + 21 
      

Jetzt wird’s schwer: AUFPASSEN 
      

12100 + 31 
      

 
      

3210 + 81 
      

 
      

12T + 7H + 10E 
      

 


